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SECTION-1

Directions Q1 to 6: Select the pair that hest expresses
a relationship sirmlar to the one expressed in the
question pair.

L. BARGE: VESSEL
a. Cargo: Hold
b, Link Chain
c. showvel: Implement
d. Squadron: Plane
2 DOGGEREL: POET
a.  aolilogquy: Playwright
b, Symphony: Conposer
c. Pulp-fiction: Movelist
d. Caplion: Cartoomist
3 FREMISE: COMNCLITSION
a. Asaunption: inference
b, Hypothess : theory
c. Enowledge: ideas
d. Brand : marketing
4 FEEL-FEAL
a. Coat:rind
b, Laugh: bell
c. Fain: reign
d Brain cranium
5 LOVE: AFFECTION
a. Happiness: joy
b, Amity: harmoty
c. Enerry : hatred
d. Borrow: fmsery
f. FARADIGH  PATTERN
a. ekeleton: Flesh
b Container: Content
c. Mamrr Theoty
d. Structure Framework

Directions Q) Tto 11: Choosze that set of staterments in
which the third statemnent logically follows fom the
first two.

7.

All tratntnal s are wviparous.
Bats are wiviparous.

Mo bat iz a hird.

Mo hirdis a trarnal.

All hats are tratnimals.

ADC

ABE

FBA

AFC

Ro SR Mo W

Mo motheris a marse.
Sorne nurses like to work

=

Mo worman is a prude,
some prude 15 murses.
SOfe TIrses are Worern.
All wormnen lilee to worls.
ABE

CED

FER

BEF

Ao TR TEDC

COranges are fruit.

Some fruits are sour
Oranges are sour,

SOfE Oranges are sour.
Sorme oranges are not sour.
Sorne apples are sour
ADE

ACE

BFD

BALC

fo SR TMEOOT R

10.

Zens are MManitis,
Zeus are fagile
Iarutis are fragile,
All statle are weal
Ifarutis can beat Opels
Opels are statle
ACB

EFD

CE&A

ABC

RO SR TIED O

11.

Aardwvatkes need deep.
All anitnals need sleep,
Diogs areanimals
somme dogs need sleep.
Aardwvatkcs are animal s,
momme Aardwatks are dogs.
BCD

CEF

BEA

BAE

RO SR HEDOE

Direcdons () 12 to 16:
select the pair of sentences that relate logcally with
the given statement.

12. Either Sarmizill; or heis diande.
&, Bamisill
B. Samisnotill
. Rarmnis dnnk
D Samnisnot dnonk
a &b
b, DA
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13.

14.

15.

14.

d CD
Whenever Rarn hears of a tragedy, he loszes
leep.
Fam heard of a tragedy.
Fam did ot hear of a tragedy
Famlost sleep
Fam did ot lose seep
CA
BD
DB
AD
ither the trainis late; or it has derailed.
Thetrainis late.
Thetrainiz not late
Thetrainis detailed.
Thetrainis not demiled.
AR
DB
CA
BC
When [ read a homor story [ have a nightimare,
Iread a story.
I did not hear a horror story,
I did nnot hawe a nightmare
I had a mghtrmare,
CB
AD
BC
AC
WhenI gat bemies I get rashes.
[ ate bhermes.
I did ot get rashes
I didnot eat berries.
I got rashes.
D&
BC
CB
Al

RoSRUOEFEHRe SR DD

e OO T

aooRDQEE

Directions ) 17 to 21: Choose the choice wiich
would best replace the underlined part of the gven
sEntence.

17.

18.

Fatul Bajaj did a great job by taling his

cotnpaty to a dorirant postion but it is titme

helet go ofthereins

a. Butitistirne be let go of the reins

b, Howewer it is timme that he stepped down,

c. Itispethaps an opportune momernt to quit

d. Bt itizsqjustas well that he calls it a day.

Thiz gowverntnent tay protoize autononty to

the navaratnas but there iz no telling what the

subzequent one will do.

a. Thereisno telling what the fubare will do.

b, There iz no telling what the subsequert
one will do.

c. It iz not clear whether its successors will
do the same.

Ted TE
d. Mobody can be sure that subsequent
governtments will adhere to that policy.

19. With the increase in the statndard of education,
expensive private  schools  hawve started
blootning up it evety commer of the countty,

a.  Started blooming in ewery corner of the
country.

b. Have statted mushwootring all over the
country.

c.  Hawe rushtoomed all over the country.

d. Hawe blossomed all over the countty.

20. It iz important that whatewer else happens,
these two factors should not be messed around
with.

a. Itisimportant that

b. Itisafact that

c. [t should be urgently understood that
d. It should be understood that

2L It must be noted that under no croungance
ghould the company go in for diversification.
a. It must be noticed that
b. It mmst be noted that
c.  Itmust be poirted owt that
d. [t should be noticed that.

Directions Q. 22 10 29: Fill in the blanks.

2. Anarct ofjustice closes the book on a misdesd,
anact of vengeance .
a. Writes one of its own.
b, Opens newbools,
c. Feopens the first chapter.
d. Writesan epilogue,
23, Thiz iz about a sociological analyas
cat penetrate.
a Asgfaras
b, The outer lirmit that
c.  Just how far into the subject
d. Just the relative distance that
24, | am always the first to admdt that I have not
accomplished everything that [
achieve five years ago.
a. oetoutto
b Went to
c.  Thought to
d. Thought of
25, Thiz iz not the first titne that the ranagement
has done some .
a.  Toughtalk
b, Togh tallang
c. Firmtalls
d. Finntalking
26. that in this apparett mess, two
things not e interfered with,
a.  Itisitmportant
b, Itisof cardinal impottance
c. [t should be urgently understood
d. [t cannot be emphasized
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a0

The highest rewward for a man’s toil is not what

he gets for it tut what .

a. He tnalee out ofit.

b, He gets for others.

c. Hehas owercorne through it.

d. He becotnes by it.

Wines that wielded a good cornercial profit
ity the same limited areas of

France as now

a. Seetn to havebeen produced

b, Appear to have rematlable sernblance

c. Bear a significant similanty in terms of

production to those grovm

d. Appearto bave been srmlarly produced

Education iz central because electronic

networlss and software-driven techndogies ate

beginning to the economic barriers
hetween nations.

a. Break dowm

b, Break

c. Crmhle

d. Disnantle

Directions () 30 to 34:

Arrange sentences A, B, C and D between sentences |
and 4, so as to form a logeal sequence of =iz
SENtENCES.

0.

3l

L

4

B

.

L.

Amange sentences A, B, T and I between
sentences 1 and 6, so az to fonm a logical
sequence of ax sentences,
& nation like an individual has many
personalitiesand many approaches to life,
If there iz a strong organic bond between
different personalities, it 15 well,

. Dtherwise thiz could lead to disintegration

and trouble.
Mormally, some kind of equilibnum is
eventually established
If normral developroert 1: arrested, then
conflict  arises . hetween  different
personalities.
In the rind and spint of India, there has
been this fundamental conflict due to a
long period of arrested growth.

a. ABCD

h. BDCA

c. CABD

d DBCA

Arrange sentences A, B, C and D between
sentences 1 and 6, so as to form a logical
sequence of a3 sentences.

1. Until the MBA artived on the scene the
IIT graduate was king,

A A degree from one of the five IIT: was a
passpott to a well-paying job, great
prospects abroad and, for some, a decent
dowry to boot,

£

EXH

— 0 oW

=l =N =

el TN S

-

Fof B
From the day he or she cracked the joint
entrance  exatn, the IIT  student
corrnanded the awe of neighbours and
close relatives.

IIT stdents had, toeanwhile,  alao
developed their own  special culture,
commplete with lingo and attitude, which
they passed down

Ttue, the success stories of IIT graduates
are legion and they now constitute the
creatn of the Indian diaspora.

But not matry alutnmd would agree that the
IIT undergraduate mindset merits a serious
psychological  study, let alone an
interactive one.

BACD

ABCD

DCB A

ABCD
Some of the maharajas, like the one at
Kapurthala, had exquisite taste,
In 1903, the Mahamja of Kapurthala
gawve hiz cvil engineer photographs of
the Wersilles palace and asked him to
replicate it, right dowm to the gargoyles
Teshwantrao Hollar of Indore brought
in Bauhaus aesthetics and even workes of
modern  artists  like Brancus  and
Cuclamp.
Kitschis the most padite way to describe
them.
But many ofthem, as the available-light
photographs show, had execrable taste,
Like Ali Baba’s caves, somme of the
malaces were like warehouses with the
downright uoly next to the sublimely
aesthetic.

BACD

BDCA

ABCD

ABDC

B0 now let’s sum it up.
o We can ol this the material of

knowledge.
According o Kant, there are two elements
that contribute to tran’s knowledge of the
world
The other iz the intemal conditions in tran
hirnzelf
One is the external conditions that we
catmot know of before we have perceived
thern through the series.

We can call this fortn of nowdedge.
BDAC
BADC
CADE
CEBDA
[ may have a strong desire for a fresh nipe
peach, but no peaches nmay beavailable,
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[ arn about to take a bite when news
arrives of an accident injuing sormeone
dear to me.

Thehay feser passes.

Cn the other tand, I buy sane peaches but
a sudden attack of hay fever prevents tne
fromn enjoying their fiagrance or taste.

. Wy interest in the peach wanishes.

[ o lotiger havre aty appetite.
DCBA
CBAD
ABCD
ACBD

Directions Q35 to 44:
Atrange sentences A, B, C and D in a proper sequence
g0 as to malce a coherent paragraph

3. 4.

o

T

36

'

o0 o

a0 o

Because negotiations had been delayed
urtil the last moment, he was at a
tremendous disadvantage.

Oy then did the truth dawn on him,
Hebrole off talles and retumed home
Ily friend was under intense pressure to
trale concessions.

DBAC

ACBD

ABCD

DBCA
“Hon, why are you reading that sissy
magazine™? heasked.
“There’s an article that tells women
where to meet men, “I responded,
pointing to the magazineg’ s cower,
“I need to lmow where 'm supposed to
he”
When [ was a tesnager, riy father caught
tne treading one of my older sister’s
IIAJATINES,

LCAB

ADCBE

DABC

DACE
“&ctually ™ Ronnie replied, “1 asked oy
wife,”
One day a tnan named Fonmi e answered
a difficult one correctly to put the men
it front.
Impressed, the host kept Ronnie on the
line and asked how he knew the answer
to much atough question.
Occasionally a local radio station airs
“Battle of the Sexes” in which listeners
phone in to answer tivial questions.

BCaD

ACDB

CABD

DBCA

35

39

40.

41.

=R 0 oom

0 oo

N =TS

4of 3T

After seweral routine elections there
cotnes a  Coitcal”  election  which
redefines the basic pattermn of political
loyalties, redraws political geography
and opens up the frozen political space.
In psychological jargon they call it
realigntnent.
Eather, since 1989, thete hawe heen a
series of setni- ciitical elections.
Ot a strict definition, none of the recent
Indian elections cqualities as a critical
glection.

ABCD

ABDC

DBAC

DCBE A
Trivial  pursaits,  matketed by the
Congress, isa game imported fom aly,
The idea is to create an imaginary
sviow it tmes of crisis so that the
party doesn’t fall flat — on itz collective
face.
Clozest contenders are MWlam Sharlar
Ayar, who still hears Hiz MMaster's
Woice, and V. George, who iz frustrated
by the fact that his poliical future
remains Sonia and yet so far
The cwrent clhampion is Arjun Singh for
whotn all roads lead to Bome, or in this
case, 10 Janpath.

ABDC

ABCD

DCB A

CDB A
Good advertising can make people buy
your products even if it sucks.
A dollar spent on brairwwashing is more
cost-effective than a dollar spent on
product improvernent.
That’s irnportant  because it takes
pressure off you to make good products,
Obrrioudy, there’s a minimoum gquality
that ewery product has to achieve it
should be able to withstand the shipping
process without becotning
unrecognizable.

BACD

ACBD

ADCE

BCDA
Alrnost a century ago, when the father of
the modern autommobile industry, Henry
Ford, sold the first Model & car, he
decided that only the best would do for
tiz custorners.
Today, it is cotntnitted to delivering the
finest quality with ower #x million
vehicles a wear in owver 200 courtries
across the world.
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cAnd for over ninety years, this philosophy

has endured in  the Ford DMotor
Compaty.

D A srehicle is ready for the customer only
if it passes the Ford ‘Zero Defect
Frogrararme’.

a. ABCD

b ACDB

c. ACBD

d. CDaABR

A But, cleatly, the government still has the
final zay.

B.  In the past few vears, the Feserwe Bank
of India right have wrested
considerable powers from the
governmrent whern it comes to monetary
palicy.

C.  The EBI':s amnouncements on certain
1gsues become effective only after the
governument notifies them

L. le't it Time the government wested the
FEBI with powers to sanction such
changes, leawing their mtification for
later?

a. ACDB

b, ACBD

c. BACD

d. DACE

A, [ st there fowning at the chequered
tablecloth, chewing the hitter cud of
insight.

B. That wintry afternoon in Manhattan,
wailing in the little French restaurant, 1
was feeling fhustrated and depressed.

. Ewven the prospect of seeinga dear friend
failed to cheer me as it usually did

D Because of certain tscalculaions on
iy part, a project of considemble
importance  inoomy life had  fallen
through,

a. aDBC

b, BCDA

c. BDCA

d. ABCD

A Perhaps the best knowm is the Bay Area
Whiting Project, founded by Jarmes Gray
in 1974,

B.  The decline in writing slills can be
stopped.

. Today's back-to-basics movemnent has
already forced some schools to place
tenewed etnphasis o the three R

D Although the inability of some teachers
to teach writing successfilly retrains a
bhig stumbling block, a tarher of
prograrmes have been dewveloped to
attack: this problem

a. BCDA

h. ALCH

Red TE
c. ACBD
d CABD

Diizer tinns (45 to 50: Select the odd mman out,

45.

Adept

Adapt

akdlfil

Proficient

The other words mean skilfial.

ooRn o ®

44,

avid

Eeen

Erthusiastic

Ein

The other words mean enthusiastic,

oo o

47,

Fing

Round

Bell

Circle

The others describe the circular shape.

0RO oW

43.

Corputer

Intemet

Grid

Metwiork

The others desctibe netweorls.

Moo o

40,

muffer

Endutre

Crideal

Withstand

The others mean to sffer of withstand.

RN

0.

Break
Hiatus
Chasm
Bridge

SECTION-II
Directions ) 51 to 100: Fead the passages given
helow carefully and answer the questions that foll owe.

oo

P bihn
Ilany surptises liein store f
into the real world, The first such suprise to come oy
way during a stint as a university administrator related
to the photocopying machines within my juisdiction. [
dizcowvered that paper for the machines plus contractual
traintenance cost substantially more than photocopies
i the private marlet, This took no account of the other
costs of the photocopiers — inls, spare parts, the space
occupied by the machine, the interests and
depreciation on it, the wages of the machine operator,
the loss of time when the machine broke down or the
operator absented Himsel £
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The university—and indeed the entire educational
systetn — was in a financial crisis Here was a situation
calling for a quick and painless execution of all white
elephants, or so I thought I proposed that we stop
using the photocopying machines and get our
photocopies made by a private operator who had
tented space o our institution Further, we could
teduce our costs well below the mratlet price through
at agreement with the private opetator, which would
let him run our suplus machines in exchange for a
price concession.

[ had expected my proposal to be eagelly embraced by
an impovetished uniwversity. Instead, it created a furore.
In a progressive institution lice ours, how could 1 have
the temmenty to suggest handing over a university asset
to the private sector? Pethaps | was in the my of the
private operator. Friends and well wishers emphasized
the necessity of immediately distancing noyself from
any plan that may conceivably benefit a private
entrepreneur — even 1f it should concurrently benefit
the university. That, I gathered, was the essence of
financial rectitude.

Atashed, [ repented my  indiscretion. The
photocopying machines were of course no longer used,
it neither were they transferred to the enermy in the
pavate sector. We got our photocopying done
pravately at market prices, not the confessional rates [
tad proposed. The wversity lost money, tt the
farmily silver was saved from the private enenoy. After
a decently long period gathering dust and cobrebs, it
could be zo0ld as scrap, but that would not be during
Ty tetne.

The story of the photocopying machines iz repeated in
many different guises throughout our public and ser-
public institutions. The public sector is replete with
umproductive assets, their sterile purity  jealously
protected fom the seductive influsnces of prvate
enterprise. There are the pathetic load factors in our
power plants. There are flests of public buses Iying in
idle disrepairin our state transport depots, There is the
fertilizer plant, which has nevwer produced even a gratmn
of fertilizer becanse, after its executive had scowred the
wide witld in ssarch of the cheapest possible patts,
they found that the specifications of these patts did not
tratch sach other. There are the 80 gas guzzling staff
cars boasted of by a north Indian wiversity which has
little else to boast about.

Pethaps the most spectacular instances of unproductive
governtrent assets relate to land Five years ago, the
thenn tninister for surface transport, Jadish Tyler,
suggested a plan for developing the wvast tracts of
unsed land in the Delbd Transport Cotporation’s bus
depats. He argued, entirely credibly, that by leasing
out this land for cotrnercial purposes, the DTC could
tiot only cover its chromic and rassive deficit but
achieve a substantial sumlus The proposal was never
implemented, the infiltration of the private sector into
DTC depots was heroically resisted by warous

s

dhad T3
governnent  depattment  departments  and  the
cotpotation continaed its relentless plunge deeper indo
the red
All other exarples of public extravagance however
pale into insgnificance alongside the astronotncal
wastefultness perpetrated by the Mew Delld murdcipal
cotrtnittee and the design of Edwin Lutyen’s Delbi.
Drelbd unlike all other major cities of the world, has a
hollowr centre — the density of population at the heatt
of town is negligible In design, it iz no modetn
toetropolis bt a mediewal itrperial capital like the
Baghdad of the Abbasid Caliphate. The wery centre of
the city iz enfirely occupied by the almost empty
falaces of the mighty while hoi polloi throng the
petiphery and travel long distances daily to serve their
trasters.
Within the charmed crcle of inner New Delhi,
ministers and members of padiament, the top nolitary
trass and the bureaucratic and the judicial elite of the
country lumiate in sprawling bungalows nestling
anidst lush greenery in almost sylvan surroundings.
Thetotal land area occupied by these bungalowes is one
of the best-kept official secretz. The ministry of whan
dewelopment lkeeps no count of aggregates, it it
appears that there are about 600 bungalows with areas
varying from one to 10 acres & not implausible
estimmate of the total area is about 10 million square
wards,
A conservative estitnate of the value of land in central
Mew Delhi iz Fso 1,00,000 per square ward Six
ndred families of VIPs are ocoupying real estate
wirth about Es 1,000 hillion, at an interest mate bf
12%, This sum would yield an amual income of R,
120 billion. This amounts to more than one per cent of
the grozs domestic product.
If the governmnent were to move these six hundred
farnilies to the outdldrts of the town and leaze this land
out, say for moulti-storied residential construction -
subject, of course, to environmental restrictions that
wiould protect the exsting greenery — the pritnary
deficit of India would bewiped out.
Wtat iz more, rents would drop all owver the city and
the housing problemn of Delbi woudd be solved, if not
flly, at least in substantial measure Further, there
wiould be a major inward shift of population reducing
transport requirernerts, and malang it more lucmative
for public transport to ply through imner Delld. The
retnowval of the six hondred would, at one strole,
telieve the accorrrnodation and transport problemns of
Drelbd as well as the budget deficit of the countty. Bt
who would bell the cat? Would the govemment do it,
cotsidering that 600 are the gowertunent?
Public interest liigation has of late highlighted a
telatively minor aspect of the VIP housing issue the
abuse of miristerial discretion in making out of turn
allotments. This focuses attention on the question of a
fair distribution between the members of the elite of
the fiuits of power. In the process, wnfortunately, a
question  of infinitely  larger import has been
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comeriently consigned to oblivion. Doesn’t the entire
scherne of VIP housing in Mew Delld irrply orgarized
plunder of the citizenty on a scale gquite unprecederted
and totally incompatibtle with the prnciples of a
demmocratic sociefy?

stratgely enough, this matter has entirely eluded the
searchlight of public attention Political patties, the
tedia public interest litigants, grmss root people’s
movetnents have all maintained a resounding reticence
on the izme When the excesses perpettated in the
tatne of VIP secunty prowoked public protest, the
Fritne Minister desired that VIP security should be
trade “uncbtrusive”. VIP housing, howewer, iz an
entirely wohtrusive burden on the public, but a hurden
of quite mind boggling propottions. Pethaps i 15 the
dlent character of this infliction that has made it zo0
gasy to impose. Or perhaps centuries of colomial nie
tave made hahitual daves of us a mere 50 years of
democracy camot erase our  slavish  habit  of
ohzequiousness to the imperial state and itsnilers,

al The author's experience taught him that the
ezzence of financial rectinde invaolved:

a. Dissodating from any plan which benefits
a pavate entreprenenr  even if it
concurrently benefits a publicinstitution,

b, Supporting any plan which benefitz a
public  institution while benefiting a
private entrepreneur.

c. Dissociating from any plan which benefits
a private entreprencur at the cost of a
publicinstitution,

d. Bupporting any plan which benefits a
public instittion at the cost of a povate
Entreprenen

52, The practice of getting the photocopies done
privately at matket prices was acceptable
hecause:

a. It saved money for the university,

b, Itlost money for the universty,

c. It saved the farily silver from the private
ENELTT.

d. Though it lost money for the wdveraty, it
sawved the family silver from the private
EHELT.

53, ¥ their sterile punty jealously protected
from the seductive adwances of private
enterprise” theauthor here 15 refernng to:

a. The farnily slver of the public institutions

b, The productive assets of the public
institutions
c. The ngid financial practices of the public

institutions
d. MNone ofthe ahove,
. The Delbi Transport Corporation’s relentless
plunge deeper into the red continued, because

according to the passage:
a. Disposing off 80 gas guzzling staff cars
was ressted.

55

56

58

59,

al.

s

Pad T3
b, Fleets of buszes in idle disrepair wetre not
allowed to be sold as scrap.
c. Leasing out umsed land for comtnercial
use was strongly resisted.
d. Selling off sumplus land to private parties
was strongly resisted.
An estirnate of the total land area occupied by
the sprawling bungalows in inner New Delld
iz
a. 6A00acres

b, 6000 actres
c. 10 trillion squate yards
d. 3000 actes

The authot’s proposal to lease out the land
occupied by bungalowes for mulli-store dyed
residential construction would:

a. =poil the ecology of inner Mewr Delta

b, Wipe ot the primary deficit of India

c. Create a sumplus of Bs. 120 hillion for the
Ilunicipal Cogrmitiee,

d. Entancethe greenery of the inner city.

The author contends that shifing 600 elite

farmilies of the govermment from the inner city

to the periphery would solve the problems(s)
of

2.  Accommodation and transportation

b, Tmnsportation and the country’s budget
deficit

c. Accommodation and the country”s budget
deficit

d.  Accommodation, transportation, and the
country” s budget deficit

When the author talks about an unobtiusive

public burden of mind-boggling proportions,

heiz referning to the issue of

a.  WVIP housing

b, VIP security

c. Cut ofturnallotiment of housing to VIPs,

d. Unproductive publicassets.

According to the passage, when a public

syatetn  suffers fom fnancial corisis, the

situation calls for:

a.  Tighteringthe belt all around

b, Handing over unproductive assets to
private patties

c. Contracting ot roaintenance of assets to
lessefficient private parties

d. Painless and gquick execution of all wiite
elephants.

One proposal made by the mthor to reduce the

cost of photocopyring well below the martket

fice, was to:

a.  Stop uang owned photocopying tmachines
and get photocopies done by private
operators in the marlet.

b, Stop ueng owned photocopying tmachines
and get photocopies done by a private
operator who had rented space from the
institution
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Hawe an agreemnent wath the private
operator allowing him to use the owned
surplus machines in exchange for a price
COLCESSon.

d. Put the photocopy operating errplovees on
a piece tate basis

PARLALLE 2
When talk tums to how india has done for itself in 50
vears of independence, the wotld has nothing g
praise for our success in remaiting a democtacy. On
other fronts, the applavse is less loud In absolite
terms, [ndia hasn’t done too. Badly, of cowrse Life
expectancy has increased 5o has lteracy. Industy,
which was barely a fledgling, has growm tremendoudy.
And as far as agriculture is concerned, India has been
transformed from a country perpetually on the edge of
starvation into a success story held up for others to
errnilate.
But these are competitive times when change is mpid,
and to wall dowly when the rest of the waorld i=
mmnning 12 almost as bad as standing still or wallang
baclowards, Compared with large churkcs of what was
then the dewveloping wordd — South Korea, Singapore,
Iflalayaa, Thailand, Indonesia, China and what was till
lately a separate Hong Kong - India has fared
abyamally.
It began wath a far better infrastruchure than most of
thezse countries had It suffered hardly or not at all
during the Second World War, It had advarntages like
an English spealang elite, quality scientific manpower
fincluding a Mobel lawreate and others who could be
ranked among the wordd’ s best) and excellent business
acumen. Yet, today, when countries are manked
according to their global competitiveness, it is tiny
Singapore that figures at the top. Hong Kong is an
export powethouse, So is Tawan Ifa syobol wers
rieeded of how far we have fallen back, note that while
Eorean Ciclosare sold in India, no one in South Korea
15 rushing to buy an Indian car,
The reasons list themselves, Topmost is economic
isolationdsm. The govwernrnent discouraged imnports and
encouraged selfaufficiency. Whatever the aim was,
the result was the creation of a totally mefficient
industry that failed to keep pace with gobal trends
and, therefore, became absolitely uncornpetitive. Only
when the trade gates opened a little did this become
apparent. The years since then have been spent in
terely trying to catch up.
That the government actmlly  sheltered  its
industrialistz from foreign competition iz a litfle
sttange. For, in all other respects, it operated under the
comiction that busnessmen were little more than
crooks who were to be prevented fom entering the
tnnst irrpottant areas of the econotmny, who were to be
tatnstrung in as many ways as possble, who were to
be tolerated in the same way as an in excizable wartt.
The high, expropriatory mtes of tasation, the Lcensing
lasae, the reservation of whole swathes of industry for

FIRE
el £

the public sector, and the granting of monopdlies to the
public sector finms were the principal manifestations of
thiz attitude. The governtnent forgot that before wealth
could he distributed, it had to be coreated. The
goverttrent forgot that it itself could not create, only
squatder wealth.

motne of the manifestations of the old attitude have
changed. Tax rates hawe fallen Licensing has been all
tut gholished. And the gates of global trade hawve been
opened wide But most of these changes were forced
by circumnstances, pattly by the foreign exchange
tarduptey of 1991 and by the recognition that the
govertrent could no longer muster the fiunds to-
suppott the public sector, leave alone expand it
Whether the attitude of the government itself, or that
of mare than handfial of ministers, has changed is open
to question

In many other ways, however, the govemment has not
changed one whit. Business still has to negotiate a
welter of negotiations. Transparency iz still a long way
off And there iz no ext policy. In defending the
existing policy, politicians betray an inability to see
beyond their noses. A no-exit policy for labour is
equivalent to ano-entry policy for new businesz. If one
industry 1z not alowed to retrench labour, other
induztries wall think a hundred times before employing
new lahour.

In other ways too, the govemment hrts industries.
Public sector monopolies like the department of
tel ecormmumni cations and YWidesh Sanchar Migam malce
it posable for Indian businesses to opemte only at a
cogt seweral times that of their counterparts atroad.
The infrastructure is in a shambles partly because it is
unable to formulate a ufficently rernnermtive policy
for private business, and partly because it does not
tave the stormrach to charge market rates for services.
After a burst of activity in the eatly nineties, the
governtnent is dragging its feet. At the rate it 15 going,
it will be another 50 years before the government
realizes that a pro- business policy iz the best pro-
pecple policy. By then of course, the world would

tawe moved even farther ahead.
fl. The wrter’s atitude towards the gowernment
1s:
a. Critical
b, Ironical
C. warcastic
d. Derisive
B2, The writer 15 swprised at the gowvernument’s

attitude towards its industnalists because:

a.  The governtment did not need to protect its
industrialists.

b, Theissue of competition was notes stent.

c. The gowemtment looked wpon  its
industrialists as crooks

d.  The attitude was a comndrum

f3. The government was compelled to open the
econony dueto:
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7.

a. Pressure from international markets.

Pressure from the domestic tarlet

Foreign exclange tankruptcy and paucity

of funds with the governrent.

d. All ofthe abowe.

The writer ends the passage on anote of

a. Cavtious optirnism

b, Pessitrism

o Optitndasm

d. Pragrratist

According to the writer, India chould have

petfortned. better than the other Asan rations

hecause

a. Ithad adequate infrastructure.

b, It had better infrastructure.

c. It bad better paliticians who could talee the
required decisions.

d. All ofthe abaowe.

India was in a better condition than the other

Asian nationz because:

a. It did not face the mwages of the Second
World War.

b, It had an Englizsh spealing populace and
good bhusiness sense,

c. Ithad enough wealth through its exports

d. Both(a)and (b} above,

The major reazon for India’ = poor performance

iz

a. Economicisolationdsm

b, Economic mismamagement

c. Inefficient industry

d. All ofthe abaowe.

One of the featres of the government's

protectionist policy was;

a. Encourmgement of imports.

b, Discowragement of exports.

c. Encoumgement of expotts.

d. Discouwragement of imports

The exarple of the Korean Cielo has been

presented to highlight.

a. India’s lack of stature in the international
tnarlet.

b, India’s poor  petfonnance  in the
international mrarket.

c. India’s lack of credbility
international market.

d. India’s disrepute in the international
triarloet.

According to the writer:

a. India’s politicians are myopic in their
vigion of the county’ s requitetnents.

b, India’s politiclans are busy lining their
pockets.

c. India’s politicians are not conversant with
the needs of the present scenatio.

d. All ofthe abowe.

oo

in the

s

Bad I3
PASSATE 2

today’s crude wersion. But i iz also in some ways a
step backeward. The first direct marketers were tristed
local shopkespers. Compared with today’s direct
tratleters, whose best stab at intimacy is a pre-printed
letter with a tniss pelt natne, the local shopleeper
teally lhew ks custorners — remembering when to
otder a favorite bolt of fabric for one, suggesting a new
cough tinchae to another “He carried his database in
bz head”, says Don Peppers, who wath Mattha Rogers
wasan eatly advocate of personalized rrarketing.
The transfonmation of direct marketing fom its local
origing into advertising s dowm tmatket cousin dates
from the wirth of mass production, which enabled
tranufactures to produce goods in large quantities for
gale by chain stores to unsgeen ryers, The first mass-
mroduced shoes in Amenca were called “straights”,
with identical shapes for left and right feet Lester
Wunderman, inventor of the tenn “direct mareting”,
beliewes that mass production has  conditioned
consumers o esgpect unsatisfactory service and goods.
“It created & culture of things that didn’t quite fit,
didn’t quite suit and didn’t quite serve”, he says.
With masz retailing came mass advertising. Withowt
direct contact with the consumer, manafactirers could
not know who was buying what, only what was
gelling. lass advertizsing established a link between a
mroduct and rullions of faceless consumers. Brands —
encapsulating a short, memarable message — were part
of thiz relationship. The result has in many cases been
fantastically successfil: Coca-Cola has created an
irnage that is instantly recognized and even has
emotional resonance.
Tet branding is, at best, an imprecise art. Liost
consummers would be hard-pressed to explain why, say,
Lewis or Mike are losing cachet to such newcomers as
Tortry Hilfiger, Because they sell through huge
retailers, producers struggle to know why customers
by their brands. As advertising costs have risen and
the media have fagmerted, tnass matketing has
become harder and more costly, That, plus new
cotrputer technology bas pushed direct marketing into
the limelight. Its fill potential iz only just being
grasped By mranipulating inforreation, including data
over the Intemet, direct marketing can be targeted and
personalized. It can even be intellizent-learning what
customners like from what they buy and where they
browse, as well as soliciting  feedback wa the
telephone and e-mail. The result can be more effective
that tra sz adwettising,
The low costs of direct mmatleting hawe created a huge
and fst-growing industtynade up of direct tail,
teletnatketing, database matketing, the Intemet and
free-phone TV, radio and print advertisements. In its
biggest roatlzet, Morth Armerica, the industty was wotth
$°163 billion in 1998, when it grew by 7% to almost
three-fifths of the country’'s total spending o
advertizsing. The industry expects 79 annual growth to
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007, beating the 55% forecast for adwertising
spending

Direct marleeting 15 growing eyen faster in places
where junk mail iz new enough still to be welcome.
Fobert Wientzen, presidert of Amenica’s Ditect
Ilarketing Association, says that in Fussian and the
Czech Republic most junds toadl is opened and read -
itdeed the average plece iz pored ower by motre than
otwe persot. Evenin China, despite an unreliable postal
serwice and few credit cards, the govemment in
encowaging direct matketing, partly to stop people
trigrating to citiesin search of thingsto ey,

Yet most drect marketing remmaing cumsy. Britain's
Direct Warketing Association admits its memmhers
gpend § 30,000 ($49.000) a vear sending trailings to
dead people. Typical success rates for most mail-shat
campaigns in mature countries are no better than M.
stewe Daper, chief execuive of Fupp Collins, a big
direct marketing agency, complaints that consumer
data are sold too freely, leading to pesky cold calls and
junk mail. The trouble iz that direct marketing iz =till
driven by the same thinlking az mass marketing,

Iflost direct marketing iz based on profiles built by
clazsification systems that use a mixture of census
data, questionnaires, and electoml-roll information
and, in Amenca, credit- card data to segment
populations. Thizs information is passed to a direct-
marketing agency to slice into profiles. Hawing defined
a type, the agency buys the names and addreszes of
girmlar people from mailing lists s0ld by list brolers,
The profiles are not soplusticated. Scott Admes, creator
of the Dibert cartoons, jokes that the most important
category 1z “the Stupd Fickh’, 20 named because of
their tendency to buy anything that’s new, regardless
of cost or usefulness. If you =ell enough to them, he
says, you can afford to sell the rest to “The Stupid
Foor™.

7l Whyis today = direct marketing called crode?
a. It isa cude attempt to become intirrate
with the customer.
b, Itisunlike the shoplespers of the past.
c. Itisacnude method to sell things.
d. Ttisnot sophisticated as mass marketing.
71 Why 1z the new from of martketing ssid tobea
step bacloamrd?
a. Itgoesbackin history.
b, It triesto do what shopkespers were trying
to do earlier
c. It wants to learn traditioral thinldng and
knowledge.
d. Ttisbrealang away from massadvertising.
73 v odid  direct  marketing become
adsettising’ s down mmarket cousin?
a. Mass production become tnote popular.
b, It hegan to belooked down upon
c. Large quantities could be sold through
mass advertising

4.

75

7h.

7.

79

80

iiaof 53

d. It became less fashionable because of
chain stores.

The authot’ s opinion about rrass production is

ttat:

a It tas condtioned customers to accept
unzatisfactory goodsand services

b. It has created a culture of goods that are
ot petfectly all right.

c. It has tade goods cheaper because of
econotnies of scale,

d. It enabled manufactrers to produce goods
i1 large quantities.

Why 15 branding an imprecise art?

a. Producers do not lmow why customers
by their brands.

b. Producers do not know why Lew’s is
losing customers.

c. Nlass mareting has become harder and

more costly,
d. Direct marketing hias been pushed irto the
limelight.
How can direct marketing become maore
effective than mass advertizsing?
a. Bwuang data on the Intemet.
b By  maldng it more targeted and

personalized.
c. By trying to leam what customers likce,
d. By soliciting feedbaclk through telephone
and e-mail.
Which of the following factors hawe been
idertified as contributing to the popularity of
direct marketing?
1. Itslow costs
1. High cost of advertising
ii. Fragmentation of the media

a [&II

b T&III

c. IT&II
d LII&III

The mte of growth in Russan and Czech

F.epublic i expected to be;

a. Between 5.5t0 7%

b, More than 7%

c. Lessthan 5.5%

d. Carnot say

What iz the most likely reason as to wiy

trailings are sent to dead people?

a. Direct marketing is daven by the samne
thinling as rrass ratketing

b, Consurner data are sold too feely

c. Data arebought fornlist brokers

d. Mobody bothered to update the data
collected

The author feels that it iz itmportart to 26l to

“The Stupid Fich™ because:

a.  They will buy anything new, conttibuting
to profits

b, You canthen affordto sell the rest to “The
stupid Poor™
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c. Itiseasierto sell to “The Stupid Poot™
d. Mone ofthe above,

Eanrildo g
Ofthe greatest leaders, it i3 said by his followers, long
after he has gone, he tnade us do it If leadership is the
att of persuading your people to follow your bidding,
without their realizing your involwetnent, the archetype
of itz practice 1z M. B MNarayata Wurthy, the chairtran
and mataging drector of the Es 14381 crore Infosys
Techtiologies (Infosys) For, the 52 year old CEO of
the globalised softwate corpormmation — which he
founded with seven fends, and a combined capital of
Fz 10,000 in 1981, and which now accupies the front
ranks of the country’ s most adimired corporations —
leads with the subtlest of weapons: personal example.
Infosys ranks only 37ath among the country’ s listed
cormparies, and stith in the software sector, in tenms of
its turnover. But it is setting new standards for Inda
Inc through its practice of inter alia awarding stoclk
options to itz employees, putting the wvalue of its
irtellectual assets and its brands on its balance-sheet,
and conforming to the disclosure standards of the
securities and Fxchange Comrmission (SECY of the
I3 Behind all this iz the stubbormn  personal
subscription of itz CEO to the underlying causes of
wealth-creation, people-power and  transparency.
“What were choices earlier are conpulsions now,”
azzerts hlurthy,
In fact, the minror images of Wurthy, the nan, can be
found all over Infosys. His Company.  His
egalitariani am — which finds expression in such habits
az usng the ‘same table and chair as anyone else in the
organization — is practiced firmly when it comes to
charting a course for the company’s fuhure. everyne
tasa woice. “We have no hierarchy just for the sake of
cottral.”
Brmtning  with the conwiction that customer
satisfaction is the key to success, Mutthy has built a
fleet-footed loaman resowrce ranagement system that
treats ernplovees as customers, vaing the resowrces of
the orgargzation to mest their professional and
personal needs. His instnuments are not just top-of-the-
trarket salaries, but also operational empowernment as
well as every facility that an employee needs to focus
oty thejaob.
Just what methods does Wurthy use to ensure that his
DA is replicated in ts company? Mot for him are the
classcal leadership getres —  trmnsactioral  or
transfortrational, situational or wisionary. His chosen
style, instead, is to lead by example, ensuring that the
CEC z actions set the temmplate for all Info scions.
Wurthy beliewes that the bettertnent of man can be
brought about through the “creation of wealth, legally
and ethically”. The personal examnple that he has set
enigbled his cotmpany to toirror those beliefs: tying his
own rewards, and measuting hiz value to the company,
to his ability to create wealth, and erecting systems for
the company’ s wealth to be shared by itz people. Sums

Pted 3T
up Mandan Milelsani, 41, deputy managing director,
Infosys: “Thiz 15 the future model of the corpotation.
Funan excellent compatiy, and let the market increase
its walue to create wealth ™
Although Nurthy iz one of the prime beneficianies of
the philosophy — his 10 per cent stalee in Infosys is
wotth B 130 crore today — in his booly the leader
leads not by grabhing the- booty- but by teaching
othets to tale what they desstwe.

That’s wiry, on the Infosys” balance-sheet, the value of
Iurthy’ s intellectual capital is nowhere near the top,
o1 the raticnale, that the CEOQ, at 52, i3 worth far less
to hiz company that, sy, a bright young prograrmer
of 26. To spread the cormpany’ s wealth, Murthy has
mnstituted stack options the first to do so in the country
— for employees, creating 300 millionaires and
growing to 1000 by 2000

To act as a beacon for his wersion of the learmng
organization, Ivhurthy not only spends an hour a day
trawding the Intemet to learn aboit new technological
dewelopments in his field, he also mekes as many
luncheon appointments az he can with technical people
and academicians — dons from the Indian Institutes of
Technology for instance - systematically plumbing
their depths for an understanding of new developments
in InfoTech Nurthy's objective is not just to stay
ahreazt of the state of the art, but alzo to find a way to
nze that lmowd edge for the company.

Following IWlurthy's example, Infosys has set up a
technology advancement wnit, whose mandate is to
track, ewvaluate, and assimilate new techniques and
methodologes. In fact, Wurthy views learning not just
as amasang data, but as a process that enables him to
use the lessons from failure to achieve success. This
sel f-corrective loop is what he demonstrates through
iz leadership during a crisis.

In 1995, for example, Infosys logt a Fe 1 5-crote
account — then 20 percent of its reverues — when the
$69 billion GE vanked its business from it. Instead of
recritminations, Murthy activated Infosys” tachinery
to understand why the busines: was taken away, and to
levrerage the learming for getling new clients instead.
Feeling detenmined instead of guilty, his emnployees
went on to sign up high profile customers like the $20
tillion Xeroe, the $7 billion Lewi Strauss, and the $14
tillion Mynes.

“You tmust have a mulli-dimensional wiew of
patadigms,”  says the rdti-tasking leader  The
ohjective is otsious ensure that Infosys” perspective
ot its business and the world comes from as many
vattage points as possble so that corpomate strategy
catl be syrthesized not frorm a narrow wision, it frotm
a wide ange lens. In fct Murthy still regrets that, in
its iitial years, infosys ddn't distil a multi-pronged
understanding of the enwirormment into its sttateges,
which forced it on to an incremental pith that led
revermes to snake up fom Fs 0,02 crore to just Bs 5
crore in the first 10 years,
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It was after looking around itself instead of focusing
oty its indtial usiness of banking software, that Infosys
tranaged to accelerate. Today the company operates
with stretch targets, setting distant goals and worldng
baclommtds to get to them The crucial pillar on which
Murthy bases his ethical leadership iz openness
Transpatrency, he reckons, is the clearest signal that
otie has nothing to hide The persoral manifestations
of that are inter alia the practice of always giving
cormplete  inforration  whenever any  emploves,
custotnet, of insestor asle forit: the loudly proclaitmed
insigtence that ewery Info scion pay taxes and file
returns, and a perpetually open office into wiich
anyone can walls into.

But even: as he tries to lead Infosys inta cloning iz own
approach to erterprize, is Whirthy choosing the hest
fiture for o7 If Infosys growes with the same lack of
armhition, the same sofiness of style, and the same
ahsence of aggressiorn, 15 it not cutting off avemes of
growth that others may seize? Az Infosys approaches
the 21st century, it 12 obwious that WMurthy's leaderstup
will have to set ever-improving role models for his
ever-learning company. After all, men grow old
cormpanies shouldn’.

al. One of the ways in which Infosys spreads the
cornpary s wealth among itz employees is;
a. Byawarding stock options.
b, By giving extravagant bonus at the end of
each year,
c. Both a)and b} above,
d. Mone afthe above.
84, According to the passage, at Infosys,
a. Cotrol iz exerted through a system of

hierarchyy.

b, Control is not exerted through a systemn of
i erarclry.

c. Hierarchy does not have pride of place in
the cotrpany,

d. Popular opindon iz the most respected

o~ A

Yred T3
c. & process that helps him to leam from
Failure.
d. Al ofthe above.

a6 According to the passage,
a. Infosys could not hawve succesded without
worldng bacloward.
b, Infosys micceeded because it wotrked
baclowmtds.
c. Working  bacdowards  conttibuted  to
Infosys” success.
d. Working baclowards iz the hallmark of
Infosys” fimctioning today.
87 Cpenness at Infosys includes:
a. The payment oftaxes
b, Giving complete information.
c. wohating secrets.
d. Botha)andh)
88, It is evident from the passage that:
a. Infosys will have to devise new strategies
to meet the challenges of the 21% century.
b, Infosyz wall stagnate ifit does not become
aggressive.
c. Infosys may have to become more
aggressive in order to retain its market.
d. Mane of the above.
€. Answered inthe last paragraph.
R The comerstone of Murthy’s hurnan resource
mana gement systemis;
a. Theemployeeas god.
b, Optirmim wtilization of humean potential.
c. Customer satisfaction
d. Batizfaction of perzormal needs.
on. According to the passage:

Infosyziza reflection ofits CECL

Infosy s brings the best out in Wharthy,
Infosy s and Murthy are synotymous.
Iuwrthy the tman and Nhuathy the CED are
incotmpatible,

oo

3.

85,

voice in the company.

We can say that Murthy believes in;

a. Betterment of tnan through leaming,

b, Betterment of man through ethical creation
of wealth.

c. Bettermnent of trian
experitmentati on.

d. All ofthe abowe.

The ematrple of the Fs  15-crore account

through

hlgh.hghts
Lurthy's ability to see ks compaty
through a crisis.

b Whrthy's ability to twn filure into
SUCCESE.

c.  Muthy's potential to handlea crsis
d. All ofthe abowe.

According to Blurthy, learning is:

a. A process

b, Theart of amassing data

Water plays a verstile role in the functioming of the
tiosphere. The water cycle has two distinct branches —
the atmospheric branch and the terrestrial branch. In
the atmosphere, water exists rainly in gaseous formn.
Oy the earth, ligquid fonms and solid forms (icefstnow)
predotmirate.

Water is important to the hiosphere in that it 15 from
water that the biosphere dtaws its most, abundant
glement, hydrogen  Hydrogen in the form of
cathohydrates constitutes a wery itmpottart souwrce of
energy for all bwing things Although we lave a
plentifil supply of water in the oceans, it is not of
direct use to use. We hawe to depend upon a smaall
stack of water - less that 1% - contained in our fvers
atd fresh water lales and in the subzoil. Even this
suall propottion can cause havoco to life if it is net
propedly managed: the reference hereis to floods.
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While relief measures are undoubtedly important,
attention hasto be focused on long-termn food control
measures. In the past, we had constructed flood
moderation reservoirs across catchrnent’s areas of
tivers, and built 19,260 lom of embankments and
27,850 lon length of dtminage channels. Besdes
18,900 willages hawe heen raised abowe the flood el
up to blarch 1997,

The fact iz that longtertn flood control measures, to be
effective, should inclhude both traditional methods and
a forestation measures. The intensity of oods tnay be
teduced by keeping the drainage chatmels clear and
remowing the acourmdated silt from reservoirs and
tivertheds. In fact, the dams built have trapped silt
coming fom the hills and prevented itz large
acoutmiation in Aiverbeds downstream Hence the new
ermphasis on building more dame in the northern nvers
ghould be welcomed. The embanloments also need to
be reinforced. In many places, they are just made of
mud and sand and easily breached by a little gush of
water Other improvements should be in the regulation
of water discharge from filled reservoirs and in the
flood forecasting systemn. Even the present warning
gysterm, though inadequate, has helped to save many
valuatle lives and property. Since the states have

been lethargic in implementing flood control schemes
and since most nvers flow through many states, it
would be better if flood control is handled by the
Centre. The mighty Hinmalayan rivers are unlikely to
be tamed unless we have a basic understanding as o
how floods orfginate Since 1947, Indian and foreiam
soientists bave been repeatedly emphasizing that the
wolume of water in the Hinwmlayan nwvers in the
rnonsoons 13 the cotmbined effect of rainfall, snovar melt
and glacier discharges. Even the first expert conmitted
set up by Mehru had opined that a serous study of the
snow melt and glacier discharges is essential for
avoiding food disasters in the notth, But efforts in this
direction dunng the last 500 years hawe been wery
iradequate. Mow that satellite pictures are awailahble
detailing the snow-cover in the Himalayas over large
areas it would do well to iritiate measresto obtain the
relevant data from such pictures. Field studies in the
Hirralayan region would also help flood control
ITIEA SULES.

a1 Which of the following, according to the
passage, 15 a new non-traditional method of
flood control?

a. Constuction  of  flood  mmoderation
reservoirs across catchiment areas of Hvers.
Bulding emnbaniiments
Laying drainage chatinels
Flanting more area with trees
9. The author speaks approvingly of all of the

following except:

a. Afforestation measures

b, The last five decades’ efforts at studying

the Hirmalayan enviromrment,

=Ny =

1
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c. Emphasis On Building Darmns
d.  Inadequate flood warming system
The author welcomes building dams in the
notthem fwers because they:
a.  Prewvert trapping the st coming from in
hills
b, Store water for power generation
c.  otore water for itrigation
d. Store water for navigation
The author’s attitude iz
a. Cynical
b, Critical
c. Constrctive
d. Congervative
The author seems to fvour
1. Traditional methods
i, Afforesration
. =oil congervation measures

a. [only

b Il only

c. I ondy

d T&IIondy

Which of the following statemerts isfare
defimitely “TREUE in the context of the
passage’

1. A sgnificant proportion of water on the
garthis not of direct use to us.

1. Water from rainfall, glaciers and smow-
melt does not pose any threat to life and
propetty.

. Water exists in atmosphere in the same
state as 15 awailable on the earth.

a [only

b Il only

c. Il only

d T&ITonly

The difficulty in controlling Himalayan rivers

1z

a. Inadequate number of datns

b, Inadequate nmumber of reservoirs in
catchinent areas of rivers

c. I[nadequate length of draira ge channels

d. Lack of lmowledzge of snow melt and
glacier discharges

Which of the following iz a new suggestion of

the author?

a.  Water discharge should beregulated

b, Drainage channels should be cleared up

c. The reserwvoirs huilt across the catchment
areas of rivers should be desilted

d A flood forecasting systern should be
establizhed

& defidency in the flood control tneamires

cottributing to the intensity of floods is the:

a.  Clearingup of the dsinage channels

b, Desilting of treservoirs built across the
catchtment areas of rivers

c. Desilting of river beds

d. Embanloments are weals
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According to the passage, lood problem arises

hecanse;

a. Afforestation  and  soil
tmeasures have not heen taken

b, Eeservoirs actoss catchiment areas of
tivers have not been huilt

c.  Embanioments hawve not been buoilt

d. Drainage charmel s have not been laid

consetrvation

SECTION-III

Directions for () 101 to 103: A race consists of three
stretches A, B and C of 2 kms length each. The mode
of coverage, and masirwn and miriroun of speeds
pozsiblein each stretch are:

Stetch | Mode Muunmm Speed | Maxirmm
[kl speed (kmeh)

A Car 40 &0

E Iotomnyele 30 k1]

[ Eicyrle 10 20

speed in a gven stretch remamns constant. The
previous record was ten minutes to complete the race,

101.

102.

103,

Anshurran travelled at the minitmun speed by
car and at mmaximum speed over the stretch B
What should be his minitun speed over
stretch C to beat the previous record?

a. 15 lanph
b, Mot possibleto beat the previous record
c. 20 lanph

d. Mone ofthese

Iir. Hare travelled at the dowest spesd in
stretch & and toolk the same amnount of time to
trawel in stretch B as he took in stretche &, [Fhe
tock: fifty percent mmore tme than the previous
recard to complete the race, what was his
speed in the stretch C7

a. 10 lanph
b 15 lan'h
c. 20 lanph

d. Mote ofthese

Lt Tottoise travelled it the overall race at an
average speed of 20 lwo'h Howerer, his
average speed ower the first two stretches
cotnhined was fowr times that over the last
stretch. What was his speed over the last
stretch?

a. 15lan'h
b, 10 lan'h
c. 20 lan'h

d. Cannot be detertmined

Directions for questions 104 to 106:

There are 80 students in a class. These students are
divided into three groups A, B and C of 15, 20and 25
students each. The groups A and C are combined to
form group D

104,

What iz the average weight of the studentzs in
group D7

105,

108.

P8 0f B8
IfMore than the average weight of &
IfMore than the average weight of C
L ess than the avermge weight of C
. Carmot be deterrmined.
If one students from Group A is chiffed to
group B, which of the fallowing will be true?
a. The awerage +weight of both groups

RO op

ificreases.

b, The average weight of both the groups
decreases.

c. The awverage weight of the class retnains
the same.

d. Camnot be detertmined.

If all the students of the class have the same
weight, then which of the followang iz false?

a. Theawverage weight of all the four groups

15 the same.

b, The total weight of & and C iz twice the
total weight of B.

c. The average weight of D 15 greater than
the average weight of &

d. The average weight of all the groups
remains the same even if a mumber of
students are shifted from one group to
anather.

Directions () 107 to 121:
These gquestions are independent of each other.

107,

108,

109,

110.

A student gets an aggregate of 0% marks in
five subjects in the mto 10:9:&7T.4. If the
passng rmarks are 50%: of the masinoum marlcs
and each subjects has the same maxinmm
marks, in how many subjects did he pass the
ExatT’

oo
A S

d 5

In how trany ways can the eight directors, the
Wice chairman and the Chairmman of a finn be
seated at around- table, if the Chairtran has 1o
it hetwee the Vice- chairtman and a director?

a  Blxd
b, 2=8l
c. 2=T7I

d. Mone ofthese
If log, [ll:ug?(x2 -x+ 37"):|= 1, then what

could be the value of =Y
a 3

b, 5

c. 4

d. Mone of these

B C

After a discount of 11.1 1%, a trader still
trales a gain of 14.28%. At how many percent
ghowe the cost price does he marlhis goods?
a.  28.56%
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111

112.

113

114,

115,

114,

117.

b, 35%

e 22.700%

d. Mone ofthese

Howr many walues of the natural nurrber noate
possible 50 that the Espression

(1 e+ T+ lﬁ)fﬁz iz alsoa natural mumber?

Infinitely many

3

4

Mone ofthese

di&c

A dry fhuit seller purchased 3 kinds of nuts at
the tate of Fs 100z Rs 80/ and Rs
604z He then mixed them, respectively, in
the ratio 3:4:5 by weight and sald the same to
a custorner at 50% profit. The price at which
he zald to the customer 12

a. Es 110

b Rs 90

c. Ra 70

d. Mone ofthese

Fresh grapes contain 90% water by weight
while dried grapes contain 20% water by
weight The weight of div grapes available
from 20 kg of fresh grapes will be.

a 2lkg

b 24kg

c. 2.5 kg

d. Mone ofthese

An express tain moving at the rate of 50 Lk
per how overtales cotrpletely a good tmin
twice as long and mowving on a patallel line in
the sarme direction at the rate of 40 ki per
hor in 54 seconds. How long wall the express
train take to completely pass through a station
4000 meters in length?

a. 54 seconds

b, 27 seconds

c. 18 seconds

d. Mone ofthese

A candidate waz asked to find 7/8th of a
postive mumber, he found 7/158th of the same
by mistake. [fhiz answer was 770 lesz than the
correct one, then the onginal given number
WS

TR0 o R

a. 1260
b, Al40
o 1584

d. Mone ofthese

F and ) are two integers such that Px() = 44,
Which of the following cannot be the value of
F+0)?

a. 20

h. A5

c. lé

d 35

The average marks of a student in ten papers
are 30. Ifthe highest and the lowest scores ate

118.

119,

120.

121.

L I
tot consdered, the average is 81, Ifhis highest
scoreis 92, find the lowest.

a 55

b &l

c. 63

d. Carnot be deterrrined

If the roots, x- and s of the gquadsmtic

equation x—2x+c=0also satisfy  the
equation 7x, —4x, =47, then which of the
following is true?

a c=-15

h xm=-5x=73

c. =45 x=-25

d. Mone of these

The sum of the areas of two circles which
touch each other extemally 15 1530, [fthe sum
of their radit 12 15, find the ratio of the larger
to the srraller radius,

a 4

b 2

coo3

d. Ione of these

If mandn areintegers divisible by 5, which of
the following is not necessanly true?

a.  m-nisdivisibly 3

b, m®—#° is divisitle by 25,

c. totnis divisible by 10

d. Mone of the abowe,

Which of the following is true?

a T-(7)
b Ts (P

2 (7Y

d. MNone of these

Directions 122 to 124: A survey of 200 peopleina
cotrrnunity who watched at least one of the tlree
channels — BB C, CHM and DD showed that 30% of
the people watched DD, 22% watched BEC, and 15%
watched CHH.

1232,

123.

What iz the mamimam percent of people who
can watch all the three channel &¢

a 1235

h. &35

c. 17

d. Insufficient data

If 5% of the people watched DD and CHB,
1076 watched DD and BB C| then what percent
of the people watched BEC and CHMM only?

a 2%

b 5%

co 8.5%

d. Carnot be deterrmined
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124, Referring to the previous question, how maty
percent of the people watched all the three
chatinel 57
a. 3.5%

b 0%
e 8.5%
d. Cannot be detertnined

Directions 126 to 127:
These questions are independert of each other.

125 A ran earns %% on the first 2000 tapees atnd
o on the rest of his income. If he sarns Rs
700 from Fs 4000 and Fs 900 from F.s 5000 of
incotne, find =z
a. 20
b, 15
£ 35

d. Mone ofthese

126,  AB is the diameter of the given circle, while
pointz C and D lie on the ciroumference as
showr, If&B iz 15 cm, AC 15 12 cnand BD is

9 cm, find the area of the quadrilatera] ACBD.
- .

B
[ 1]
a  Sdn
b, 216n
c. lédn
d. Mone ofthese

127 P; ) and R are three consecutive odd marbers
in ascending order. If the value of three tirnes
Pis three less than two times B, find the walue
of B,

[ar N e B . L
el = R R |

1

Directions Q) 128 o 130:
For these questions, the following functions have been
defined:

lafz, v z) = tmin(z+y, ¥+,

le(xy,z) = mas(z "y, y-2)

rrazy Z)=(1/4) ey, Zrlal v z)]

128, Given that = > v = =z = 0, which of the
following isnecessanly true?
2. la(zy.z) <lezyz)
b malzy,z) < la(zyz)

L ma(xy.z) < lgxyz)
d. Mone of these

129, What is the walue of ma(l0, 4, 1e(la 10, 5, 3,
531
a 7.0
b, A.5
c. &l

e B0
d T5
130, Forz=15y=10andz =9, findthe wmlue of
leds, minly, =—=), 169, 8, malz, vz
a 5
b 12
c. U
d 4

Directions ) 131 to 136:
These questionsare independent of each other.

131, ABC iz a three-digit numher in which A=0.
The wvalue of ABC is equal to the sum of the
fictorials of itz three digts What 1= the walue
of BY
a U
b 7
c 4
d 2

132, Theadjoining fgure shows a 26t of concentric

urits, and if the distance bhetween the
cotresponding comers of any two successive
sguares i3 1 unit, find the difference between
the areas of the eighth and the seventh square,
counting from the innetrnost squate.

a 104

b 30

e 35

d. Mone ofthese

& B and Care defined as followes:

A=[2.000004) = (2.000004 " +(4 000008,

133.

B~ (3.000003)+ {3.000003)" +(9.000009)]

€= (4.000002) [ (4.000002)" + (8.000004)

Which of the following is true about the walue
of the above three expressions?

a. Al ofthemlie between 0.18 and 0.20.

b, A4 istwice C.

c. Cigthe smallest

d. B isthe smallest.

134, Thewalue of each of a set of silwer coins varies
as the square of its diameter, i its thickmess
remnaing  constant, and it waries asz  the
thickness, if the diameter remains constant. IF
the diatneters of two coins are in the atio 4:3
what should the ratio of theit thickneszes he if
the walue of the first is 4 times that of the
secod?

a 169
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d. 49

135, In a tnangle ABC, points F, () and Rare the
tnid-points of the sides AR, BC and CA
tespectively. [fthe area of the tHangle ABC is
20 5g undts, ind thearea of the triange POR
a. 10 =g units
b 15 =g units
C. 5 s urits
d. MNone ofthese

136, In arectangle, the difference between the sum
of the adjacent sides and the diagonal iz half
the length of the longer side. What 12 the ratio
ofthe shorter to the longer side?
a. 31
b 13
o 25
d. 34

Directions () 137and 138:

At Weird Holiday Congany, an employee gets a
holiday on those days whose first letter iz the same as
the first letter of the emplovee’s name. All other days
are worldng days. For instance, William gets a holiday
o each Wednesday., Assume that the daly
productivity of all employees 15 the same.

137,  Faja stated the work on Sunday, the 25th
Fetwruary 1996 and fimshed the work on
Wlarch 2, 1994, If Tom and Jeny were
assigned this tasle on 23th Febmary 1994,
when will the worls have been completed?

a. 2fth Febrmary 1994

b, 13t hlarch 1994

c. Z2e8thFebrary 1998

d Tom and Jerry cannot possibly  work
together

135, If Faja had actually completed the work on
Aprl 2, 1994, and if Tom and Shyam were
assigned the same task on the same starting
day, when will the work have been completed?
a. DNlarch 15,1994
b Dlarch 22,1994
c. Nlarch 39,1934
d. April 2, 1994

Directions ) 139 to 141:

Boston iz 4 hours ahead of Frankfint and two howrs
behind India 3 leaves Frankfiut at 06:00 pm oo
Friday and reaches Boston the nest day. After waiting
there for two hours, he leawves exactly at noon and
teaches India at 0100 atm. On his return journey, he
takes the satme route az before, It halts at Boston for
otie hour less than his presious halt there He then
proceeds to Frantdt.

139, If Wis journey, including stoppages, was
covered at an average speed of 150 miles per

EVed 37
hour, what was the distance between Frankfot
and India?

a. 3600 files
b, 4500 triles
c. 5580 miles
d. Insufficient data
140, If X had started his return journey from India
at 0255 atn o the satne day that he reached
there, after how tmuch titne would he teach
Frarlfirt?
a 24 s
b 25 hrs
c. dolrs
d. Insufficient data
141, What was X's average speed for the entire
journey?
a. 170mph
b, 180 mph
c. lé>mph
d. Insufficient data
Dirvections () 142 to 143: Thesze questions are
independent of each other.

142 . In the adjoining figure, pointz &, B, C and I
lie onthecrce AD =2 andBC =11,
What iz the mtio of the area of the triangle

CBE tothat of the tiangle ADE?
3 -
C i

a 14

L

c. 13

d. Inmufficient data

143, In the given fiqure, EADF iz a rectangle and
ABC is a tnangle whose vettices lie on the
ddez of EADF.
AE=22RBE=6CF=16and BF =1
Find the length of the line joitding the mid-
points of the sides A and BC.

F
a. 4-\5
h. 5
co 3.5
d. MNotie of these

Directions () 144 and 145:

These questionsare based on the following data:

A thief flegs City A ina car towards City B o a
stretch of strmight road, 300 ldlometers long, at the



http://studentsuvidha.in/
http://www.studentsuvidha.in/

Student

nidha.g

)

VIOT

(9, v |

speed of 60 kmdhe In 15 minutes a police party (20
leaves city A to chasethe thiefat 85 kendbr.

144,

145,

After leawing how long does it take for the
palice patty 2 to catch the thief'?

a. 2hrsdsmin
b, Shrs
c. Jhts 15tmum

d. MNone ofthese

If a police party (Y) were to leawe City B at
the satne titne as police party 2 leaving City A
to catch the thief at dlkmdht, then which of

the followang statements is true?
a. Patty X reaches 37.5 minates after Party ¥
has caught the thief

h. Patty ¥ reaches 37.5 mirmites after Party X
has caught the thief

c. Party X and Party ¥ has caught the thief
together.

d. Party X waz 20 lom away when the thief

caught.

SECTION-IV

Dirvections Q) 146 to 155: Data Sufficiency.

Mark (a) If the cquesticn can be answrered by using one of
the statemerts alone, bt carmot be awswered by using the
other gatement o one.

Mark (b) If the cquestion can be answered by using either
statement al otie.

Mark (c) If the quedion can be answered by udng both
statemerts together, it carmot be answered by using either
statement o ote.

Mark (1) If the quedion carmot be answered even brr udng
boththe gatemernts together,

144,

147,

The walues of x and ¥ can be determined
uriquely if

A dx+2y=45

B. 10.5x+7y=130

a. Ifthe question can be answered by using
one of the staternents alone, bt cannot be
answered by using the other statement
alone.

b, If the question can be answered by using
either statement alone.

c. If the question can be answered by using
both statements together, but cannot be
answered by using either statemert alone,

d. If the question cannot be answered ewven
by using both the statements together,

A mumberis divisible by 991f

A, The mumber iz sirmltaneousy divisitle by
Qand 1l

B. A number formed by reversing the
positions of the digits of the same number
is divisitle by 99,

a. If the gquestion can be answered by using
otie of the staternents alone, bt cannot he
answered by uasng the other satement
alone.

148,

149,

150.

s

% oad 33

b, If the question can be answered by using
either staternent alone.

c. [Ifthe gquestion can be answered by using
both statements together, but cannot be
answeted by using either staternent alone.

d. If the gquestion cannot he answered even
by using hoth the staternents together.

The total capacity of production for two types

of fans iz 20,000 units. Usnga total of 50 tons

of matenals for production of both types of
itz and operating at full capacity, what is the
production ofthe type 1 if

&, The rate of consurmption of tmaterials for
type [z 2 kg of materials per fan.

B. The rate of consunption of material for
type [[iz 3 kg of materials per fan.

a. [If the question can be answered by using
one of the staternents alone, but cannot be
answered by using the other statement
alone.

b, If the question can be answered by using
either staternent alone.

c. If the question can be answered by uzing
both statemnents together, but cannot be
angwered by using either statement alone.

d. If the question cannot be answered even
by using both the statements together,

A product was sold for B 5 at a profit of p%
where the cost of manufactunng the product
consists  of  raw  matedals,  labour  and
ovetheads. The cost of raw materals, labour
and owerheads are increased and the cormpany
intends to sell the product at a profit. What is
the newr selling price?

&, Cost for raw materials, labow and
owerheads are in the ratio of B: L OH
priot to increasein cost

B. Cost for raw materials, laboy and
owerheads are increased by %0, 1% and oh
%o respectively.

a. Ifthe question can be answered by using
otie of the staternents alone, but cannot be
answered by using the other statement
alone.

b, If the question can be answered by using
either staternent alone.

c. [Ifthe gquestion can be answered by using
both statements together, but cannot be
answered by using either staternent alone.

d. If the gquestion cannot be answered even
by using hoth the staternents together.

Three fhends, P, O) and B are wearing bats,

either black or white. Each person can see the

hats of the other two persons. What iz the
colour of P72 hat?

A, P szays that he can see one black hat and
one white hat.

B. 0 says that he can see one wiite hat and
one hlack
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151

152,

153

a.

d.

If the question can be answered by using
otie of the staternents alone, bt cannot he
answered by using the other statement
alone.

If the question can be answered by using
either statetnent alone.

If the question can be answered by using
both statemnents together, but canneot be
answered by using either staternert alone.
If the question cannot be answered even
by using both the staternents together.

What 15 the speed ofthe cat?

A

B.

d.

d.

The speed of the car iz 10 more than that
ofa matorcycle

The motar-cycle takes 2 hours more than
the car to cover 100 kans.

If the question can be answered by using
one of the staternents alone, bt cannot be
answered by using the other statement
alone.

If the question can be answered by using
either statement alone.

If the question can be answered by using
both statements together, but cannot be
answered by using either statemert alone,
If the question cannot be answered ewven
by using both the statements together,

What iz the mtio of the volume of the given
nght circular cone to the one obtained from it?

4.

d.

The sraller cone 15 obtained by passinga
plane parallel to the baze and dividing the
origiral height in theratio 12,

. The height and the baze of the new cone

are one-thind those of the original cone,

If the question can be answered by using
otie of the staternents alone, bt cannot be
answered by using the other  satement
alone.

If the question can be answered by using
either statemnent alone.

If the question can be answered by using
both statements together, but cannot be
answered by usng either staternert alone.
If the question cannot be answered even
by using both the staternents together.

What 15 the area bounded by the two lines and
the coordinate axes in the first quadrart?

A

The lines intersect at a point which also
liee on the lines 3x-4y=1 and
Tx—By=35.

. The lines are perpendicuar, and once of

them intersects the y-ais at anintercept of
4.

If the question can be answered by using
otie of the statetnents alone, bt cannot he
answered by using the other satement
alone,

If the question can be answered by using
either statetnent alone.

C.

d.

154,
A

B.

d.

155,

Bred 33
If the question can be answered by using
both statements together, but cannot be
answered by using either staternent alone.
If the gquestion cannot be answered even
by using hoth the staternents together.

What 15 the cost price ofthe chais?

The clait and the table are  sold,
respectively, at a profit of 5% and 20%.
[fthe cost price ofthe chairis increased by
10% and that of the table iz increased by
20%, the profit reduces by Bs. 200

If the question can be answered by using
otie of the staternents alone, but catnot be
answered by using the other statement
alone.

If the question can be answered by using
either staterment alone.

[f the question can be answered by using
both statemnents together, but cannot be
answered by using either statement alone.
If the question cannot be answered even
by using both the statements together,

After what time will the two persons, Xand ¥

meet while moving around the circular track?
Both of them start from the same point and at
the same time.

4.

X moves at a constant speed of 5 mfs,
while Y starts at a speed 2 mfs and
increaszes hizs speed by 0.5 m's at the end
of every second thereafter.

Y can conglete one entire lap in exactly
10 zeconds.

[f the question can be answered by using
one of the staternents alone, but cannot be
answered by using the other statement
alone.

If the question can be answered by using
either staternent alone,

If the question can be answered by using
both statements together, but cannot be
answered by using either staternent alone,
If the gquestion cannot be answered even
by using both the staternents together.

Directions for guestions 156 to 160: Answer these
questions wath the help of the following table.

Hotels in Mumbai
Progect HNo. of Costlin | Vear of Conpany
WONSE Ke. conpletion
crom]
Welromgroup | @00 275 15945 IHCL
Loela Hotels 300 225 1595 Leela Hotels
Bk ai 200 225 1598 EBonbay
Heizhts Hotels
Foyal 536 250 1598 Lockandwrala
Helidays G oup
Majeste A0 250 1593 Faheja
Haoliday Frup
Supreme 300 300 1999 ITC
Hotel
Hyait 00 256 2000 &5 ian Hotels
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Mote: Date of start of all projects 12 1997

154,

157,

Which of the following had the least cost per
root?

a. Loklandwala

b, Rahea

c. IHCL

d. ITC

Which of the following has the tasdrum
tunber of rooms per crore of rupees?

a. THCL

b, Rahea

c. Loklandwala

d. ITC

Directions () 158 to 160: For these questions, assume
that the cost of the project is incurred in the year of
completion. Interest is charged @@ 1 0% per anmum.

158,

159,

160,

What 15 the cost inoured (in Rz crore) for
projects comypleted in 199587

a. 255

h. 475

co 51135

d. 5023

What iz the costincunred (in B o) for projects
cornpleted in 19987

a. 12514
b 12700
o 1475

d. 15350

What approzinately is the cost incurred (in
F.e crore) for projects completed by 20007

a. 1735

b 2140

co 2320

d. MNone ofthese

Directions ) 161 to 166: These guestions are based

oL t_he following araph.

Y R ——

4

B B

20

i)

W

AE N I

10

- — —h

-]

0

161,

¥H50 1591 1bE2 1023 1909 18RS 1BES

~+— MK (rallian galens)

tonnes)

—— Fenngle population [rma)

— = Mk populaticn {mnl |

== Fodgrazing (ridlicn |

When was the per capita production of milk
theleast?

162,

163.

164.

165,

168,

i ef 3U
1930
1993
1934
d. 1994
Whet was the per capita production of food
grains the trnost?
a 19332
b 1933
co 1994
d. 1995
In which yeat was the difference between the
increase in the production of food grains and
trillk the raz !
a 1933
b 1934
c. 1995
d. 1994
If ralk contains 320 calories and food grains
contain 160 calories, in which year was the per
capita consumption of calones the ki ghest?
a 1933
b, 1934
co 1995
i
If one gallon of milk containg 120 gm of a
particular mofrient and one ton of food grains
containzg 30 gm of the same mitrient, in which
vear was the availability of this nutnent the
TraE Y
a 1933
b 1934
c. 1995
d 1994
Eeferring to the above question, in which year
was the per capita consurnption of this nutnent
the highest?
a 1993
b, 1994
c. 1995
d. 1994

ooom

Directions for questions 167 10 172:
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The mazimum decrease in profit occured
between the years.

a. 1991-01

b, 1993-04

c. 19092-03

d. 1904-0%

The difference between the amourt spent on
taw tnatenial and wages was the least in

a 1931

b 1933
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oo 1993
d. 1995

169, The average profit, in lakhs of rupees, over the
five-year period was approxzitrately

a. 10
b, 19
c. 13
d 28

170, In which yeatr was the atnount spent on faw
traterial per wit wage cost the masitoum?

a. 1991
b, 1903
o 199%
d 1954

171, The masmum percentage increase in sales
reverme hetween any iwo successive years

Was,
a 27
b, 45
c. 34
d. 6l

172, Which cost component has remained relatively
stable over the five years?

F.aw matenal

Interest

Wages

Cverheads

o0 o

Directions Q173 to 177: The following table gives the
tanff (in paize per lkdlo-watt-hour) lewied by the
JFSER in 1994095 in the four sectors and the regions
within them The table also gmwes the percentage
cllange in the tariffas n:l:umpared to 1991— 92

Bez1 Begn | % [ Heg [ 7 | B keg | W
o 1 :i:l:‘n: m 2 | w3 | a m 4 irn: a5 | e
phwr | T i | T Tbmr phar |1 phmr | T
h h h h h

245 +1 | 40 +i [ 44 —4 LA + [ 4 +1

Tied 0T
as compared to 1991-92 the net tariff in 1994-
05
a.  Increases by 6.5%
b, Decreaszes by 3.5%
c. Increases by 10,2845
d. Decreases by 7.3%
174, What approzitmately was the average tanff in
Fegion 3in 19910327

a. 407
b, 420
c. 429
d. MNotie of these

Directions Q 175 to 177: The UPSER supplies powwer
under four categoties, Urban (25%), Domestic (20%0)
Industrial (40%) and Fural (15%%) In 1994-85, the
total power produced by the UUPEER was TEr5
Ilegawatts.

175, Ifin 199405 there was a 10% decrease in the
dormestic consurmption of power as compared
to that in 1991-92, what was the consumption
of power in the ruml sectorin 1991-927

a, 1311
b 1423
c. 1750

d. Maone ofthese
176, In the gven two years, what is the total tanff
paid by the Urban sector (in Fa lald)?

a 224
b, 214
c. 2712

d. Carnot be determined
177 Which ofthe following is true?

a. The average tariff in Fegin 4 i1z 4375
piw.

b, The average tariff in Fegion 2 is greater
than the average tariffin Fegon 5.

c. In 1991-92,  the industrial  sector
contributed to gbout 42% of the total
reverie from powet,

d. Mone ofthese

Direc tions for questions 178 to 185: The questions
are based on the followang inforrmati on.
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173, If the amount of power consurmed by the
various regions in Sector 1 is the satne, then,
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173,

179

150.

181,

152.

In 1974, agrcoltural loans fonmed wiat
percert of the total 1oans?

a. BE%
b 71
c. TT%
d. Cannot be determined

From the given data, the murber of rnuml Lloans
up to 1980 formed approcimately what percent
ofthosein 19837

a. 112%

b, 80%

oo 9%

d. Cannct be deterrmined

Which of the following pairs of vears showed
the masimum increase in the mamber of loans?

a. 1971-T1
b 197475
e 1970-71
d. 1980-51

What iz the walue of Agricultural loansin 1983
at 1970 prices?

a. 3265
b 3175
c. 3083
d. Mone ofthese

In which year was the munber of loans per
tural hank: the least?

a. 1974

b 1971
c. 1970
d. 1975

183, What iz the sitnple artal rate of incease in
the mumber of Agricultural loans from 1970 to
19537

a 131%
b, El%

[
d. 1056%

Additional information for Q) 154 to 185:

The Consuner Price Index for 1970 iz to be taleen as
105 and the Indices for the subsequent years are to be
cotrected accordingly.

184, By roughly how maty pants do the Indices
for the years 1983 and 1975 differ?

a 175
b 150
c. 183
d. 195

185 What iz the walue of the loans in 1980 at 1983
prices?

a. 37l
b 675

535
d. 440
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